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B.Tech 5th Semester Exam., 2018

COMPUTER NETWORK

Time : 3 hours Full Marks . 70

Instructions:

() All questions carry equal marks.

(i) There are NINE questions in this paper.
(1} Attempt FIVE questions in all.

(v} Question No. 1 is compulsory.

1. Choose the correct answer {any seven) :

fa) The IETF standard documents are called

__{)} RFC
(i) RCF
(i) 1D
(iv) None of the above

(b) The is the physical path over which a

message travels,
(it path

//(if} medium
(iiif} protocol
(iv} route
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(2)

(€}  The structure or
AU syntax
(i) semantics

(iii) struct

format of data is called

(iv) None of the above

(d) Transport layer is implemented in
{1 end system
fii) NIC
(iii) ethernet

{ivy None of the above

(e} The functionalities of presentation layer
includes

{ii data compression

fijj data encryption

(iii) data description

fiv) All of the above
-~

() Header of a frame generally contains

(i) SynchroniZation bytes
fii) addresses
(iii) frame identifier

__fiv) All of the above
{ Continued )
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(3)

Which one of the following is the multiple
access protocol for channel access control?
() CSMA/CD
{iif CSMA/CA

_—(iii) Both CSMA/CD and CSMA/CA
{iv)] None of the above

(g}

(h) User datagram  protocol is  called

connectionless because

{{) all uDp packets are treated
independently by transport layer

fii) it sends data as a stream of related
packets

(iii} it is received in the same order as sent
order http://www.akubihar.com

fiv} None of the above
() Transport layer protocols deals with
{3} application to application communication
{ti} process to process communication
{iii} node to node communication
(iv)] None of the above
il  Which one of the following is not a function
of network layer?
{t) Routing
(i) Internetworking
(i) Congestion control
{iv} None of the above
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(4)

/2. The ISO reference model defines SEVen protocg]

< layers, each of which is responsible for a specific
range of functions. By considering this model,
explain the main functions performed by g4
protocol operating at—

fa) the physical layer;
(b) the transport layer;

fc) the network layer.

3. Based on the single-bit parity error-detection
code devise a new code to detect and correct
a single 1-bit error in 4 bytes of data. How many
parity bits do you require? You may assume that
parity bits are error-free.

4. In the context of Transmission Control Protocol
(TCP), answer the following questions :

fa) Briefly describe the purpose of TCP as well
as the layer of the TCP/IP protocol
architecture where it is found,

{b) TCP implements a mechanism called the
three-way handshake. Indicate the purpose
of such mechanism and using a diagram,
give an example on how it works
emphasising the values of the TCP flags
used as well as the sequence number.
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(5)

2 f neat diagrams, explain the term

P ‘exponcﬂ

6. List wvarious congestioﬂ control mechanisms.
. Lis

Explain any one in detail.

7. State the need for an [P address. Also, explain
/ various classes of IP addressing scheme.
e

Write short notes on the following :

{a) Peer to peer networks

-}bj Distance vector routing algorithm

/{c} OSPF routing protocol

(@) E-mail
_tef ALOHA

9. Distinguish between the following :
faj TCP vs. UDP

{b) Static routing vs. Dynamic routing
) IMAP vs, pop

* K &
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